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BUSINESS STATISTICS
Paper-306

Semester—III
Time Allowed : 3 Hours] [Maximum Marks : 70

Note : The candidates are required to attempt two
questions each from Sections A and B carrying
10 marks each and the entire Section C
consisting of 10 short answer type questions

carrying 3 marks each.
SECTION—A

1. Discuss about the various measures of Dispersion.
Distinguish between Mean deviation and Standard

deviation. 10
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2. Explain the concept of Time Series Analysis.

Discuss the different components of Time

Series. 10

3. The median and mode of the following wage

distribution are known to be ¥33.5 and 334
respectively. Three frequency values from the
table are however missing ? Find out the missing

frequencies when sum of frequencies is 230. 10

Wages (%) No. of Persons
0-10 4
10-20 16
20-30 -
3040 -
40-50 -
50-60 6
60-70 4
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4. Assume a four yearly cycle and calculate the trend
by the method of moving averages from the

following data relating to the production of Tea in

India : 10
Year Production
1994 465
1995 515
1996 518
1997 467
1998 502
1999 540
2000 557
2001 571
2002 586
2003 612

13548/NJ/454/W/10,410 3 [P.T.O.

SECTION—B

5. Calculate Price Index number using Laspeyre’s

method from the following data : 10

Commodities 1990 2000

Price Quantity Price Quantity

A 8 10 10 11
B 10 9 12 9
C 16 16 20 17

6. From the following data obtain the Regression

equation of Y on X : 10

X 40 50 38 60 65 50 35

Y 38 60 55 70 60 48 30

Also estimate Y when X = 5.
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7. What do you mean by Correlation analysis ?
Explain the various types of Correlation
analysis. 10

8. Define Forecasting. What are the various methods
of Forecasting ? 10

SECTION—C

9. Answer any 10 of the following : 10x3=30

1) Limitations of Index numbers.

(i1)  Explain Fisher’s ideal index.

(1i1) Seasonal variations of Time series.

(iv)  Co-efficient of Variation.

v) Problems in construction of Index numbers.

(vi) Explain Standard deviation.

(vil) Calculate Co-efficient of Variation when
Covariance of x and y is 488 and variance
of x is 825 and variance of y is 325.
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(viil) The mean of 75 observations is 27. Later on
it was discovered that one observation was
wrongly read as 43 instead of the correct

value was 53. Find the Correct mean.

(ix) Calculate Karl Pearson’s coefficient of
correlation between expenditure on
Advertising (X) and Sales (Y) from the data

given below :

X Y

39 47
65 53
62 58
90 86
82 62
75 68
25 60
98 91
36 51
78 84
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(x)

(x1)

Write Regression equations of X on Y and

of Y on X for the following data :

X Y

45 25
48 30
50 35
55 30
65 40
70 50
75 45
72 55
80 60
85 65

An investor is fond of investing in Equity
shares. During a period of falling prices in
the stock exchange, a stock is sold at 3120

per share on one day, ¥105 on the next and
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(xii)

T90 on the third day. The investor has
purchased 50 shares on the first day, 80 shares
on the second day and 100 shares on the
third day. What average price per share did

the investor pay ?

A person has invested 35,000 in the Stock
market. At the end of the first year the
amount has grown to ¥6,250; he has had a
25 percent profit. If at the end of the second
year his principal has grown to ¥8,750, the
rate of increase is 40 percent for the year.
What is the average rate of increase of his

investment during the two years ?

13548/NJ/454/W/10,410 8



PUNJABI VERSION Wages (%) No. of Persons

. . 0-10 4

8C: 391 A3 B 994 fed @-8% YmAs a9 ni3
9 YAG € 10 »ig I&| 91 C A &91 fer 10-20 16
feg 10 AEU €39 8 yAs swAH T5 3 20-30 —~
J9a YAS € 3 "id I3l 30-40 -
40-50 _

FAI—A

50-60 6
1. fgs€ (fsAugrs) @ fefss unfer fegrg| c0_70 )

Hoa®t feoses w3 yHex fegss fem nizg
4. 99 A T Ya9 Hofent yidar vinst & fedt 5%

! . yfeast § widl foHs-Tan nig3 gw3 feu o
2. 2TEH FidA ferdAT @ Aasy fegd w3 2 ¥ QuA &% ASu3 Is: 10
Aidta @ fefds wiar fegd 10 Year Production
3. foHs-T9n 8793 I3  Hiter w3 ST aTHe 1994 465
3335 W3 334 JUT T5| 298 3 35 nifeast 1995 515
vy fufAar I&1 Aag wifegsht & #3 2230 1996 518
de, 3t fHfAar nifeashr & uzr &6: 10 1997 467
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Year

1998

1999

2000

2001

2002

2003

5. foHs-Ta9d widfamit 3 Bming fedt =93 &

Production

gTdI—B

yEH fE€3an 399 nia:

Commodities

A

B

C

1990
Quantity Price

10

16
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502

540

557

571

586

612

Quantity

6. foHs-Tad wiafgm 3 X €3 Y € TI9ast

AHlags @ U3z &6 10
X Y
40 38
50 60
38 55
60 70
65 60
50 48
35 30

Also estimate Y when X = 5.

7. Aforsy fer®AE 3 ot 3@ J7 AfgRsU feR@AS
o fefds farHT =98 a9l 10
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[

8. YIT wigHs & umz § ufesthas &9 wmEE
it fefgs feutnr faozhet et a&? 10

gTa—C

9. J5 fafei feg' fam 10 © Aau €39 fay:

1)

(i1)

(iii)

(iv)

(v)

(vi)

(vii)

10x3=30
fesan d=gt @t HiHe feg|

ferg @ wEishs fEsaR a9 99 &gl
¥ A &t HAHt fSase femgl
S9eHs T geix & der I7?

fesan d=gt © fegws & mifmret
fegi

Hea fegses & mAeadt fe€l

Calculate Co-efficient of Variation when
Covariance of x and y is 488 and variance

of x is 825 and variance of y is 325.
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(vii1)) The mean of 75 observations is 27. Later on

(ix)

it was discovered that one observation was
wrongly read as 43 instead of the correct

value was 53. Find the Correct mean.

Calculate Karl Pearson’s coefficient of
correlation between expenditure on
Advertising (X) and Sales (Y) from the data

given below :

X Y

39 47
65 53
62 58
90 86
82 62
75 68
25 60
98 91
36 51
78 84
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(x)

(x1)

Write Regression equations of X on Y and

of Y on X for the following data :

X Y

45 25
48 30
50 35
55 30
65 40
70 50
75 45
72 55
80 60
85 65

An investor is fond of investing in Equity
shares. During a period of falling prices in
the stock exchange, a stock is sold at 3120

per share on one day, ¥105 on the next and
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(xii)

T90 on the third day. The investor has
purchased 50 shares on the first day, 80 shares
on the second day and 100 shares on the
third day. What average price per share did

the investor pay ?

A person has invested 35,000 in the Stock
market. At the end of the first year the
amount has grown to ¥6,250; he has had a
25 percent profit. If at the end of the second
year his principal has grown to ¥8,750, the
rate of increase is 40 percent for the year.
What is the average rate of increase of his

investment during the two years ?
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